3) Using one of your butt hinges os a lemplate, chisel out the mortise for
the 'hinges in pieces F and L os shown (Fig 4). Ensure you stond the
two pieces up ot 90 degree ongles to eoch other to ollow for the hinge
pin space. Centre pieces J on the e lop edges of pieces F and
pre—drill through J and slightly into F with twelve 1/8" holes, six
each. Glue and screw together with twelve #8 1 1/4" flothead screws.
Pre—drill through the hinge and piece F with 1/8" holes where the holes
line up when the hinge is inserted into the mortise. Attoch the JF
assembly to the table legs by screwing through the hinge ond piece F
into the table legs with mm 1 1/4" flothead screws, or with the
hardware provided with the hinge providing it is long enough. You may
wish to pre—drill into the leg with o 1/16" bit to prevent splitting.
Pre—drill and countersink two 1/8" holes in each of the ends of pieces
G, 1 1/2" in from the ends, countersink with a 3/8" drill with enough
depth that you be able to ingerl wood buttons. Glue ond screw
pieces G lo the table legs with eight #8 1 1/4" flotheod screws. We
recommend this assembly be done with the legs upside down to ensure
that the tops of E, F, ond G remain flush. Glue ond insert the wood
buttons ond wipe off excess glue. With the ossembly s nverted,
place in piece H to ensure it fits. Remove ond pre-drill with two 1/8"
holes to intersect the leg, countersink. Ploce o bead of glue in the
notch, ond on each end, re—insert, ond screw to the leg with two 1 1/4"
screws. Pre—drill one hole in each of the ends so thal a screw w
intersect pieces F and G, countersink, and ottoch with two 1 1/4"
screws. Repeot for each piece H. Attoch pieces L by using #8 5/8"
flothead screws through the hinge already oltoched to piece F. You
will have to chisel slightly on the edge of G to ollow for the hinge
pin. Ensure thot the top edges (now the botlom edges as the lable is
upside down) of F, G, H, E, ond L remain flush throughout this
procedure lo ensure the table top will remain flal. Now wipe off
excess glue, turn the table over, ensure the table remains square, and
allow the glue to set for ot leost two hours.

4) Pre-drill four equally spaced holes (2" spocing) in pieces K with o
1/8" drill bit ond countersink these holes from the rounded side.
Place pieces C ond D upside down, glue the rabbet joint, ensure they
are square and tight against each other. Use a pair of bar clomps to
accomplish this, and screw on pieces K with twenty #8 1 1/4" screws as
shown (Fig 5). Position A ond B tight to this ossembly ond trace out
where the hinges will ottach. four 3/8" dia. holes to otloch
wood buttons. Mortise out the hinge locations so that they will be
flush, ond otloch with 5/8" screws ensuring the screws do nol go
through the other edge of the table top. The hinge should now operate
as shown (Fig 6). Glue in the four wood buttons.

5) From the top. d ive 1/8" holes down through eoch piece J. Pre—
drill o similar hole in each H, 1/2" down, ot 30" to intersect with
the toble top. Ploce o beod of glue olong pieces J ond H ond then
ploce on the table top. Ensure thot the toble top is centred, and
screw on the table top, from the boltom, with fourteen #8 1 1/4"
flothead screws. Toke greot core that your screws do not go through
the top surfoce of the table. Wipe off excess glue, ensuring no glue
is neor pieces L, ond ollow to dry.

6) Sond project ond finish with stoin ond varnish, or

On materials:

Use moaterials to match the rest of your dining room furniture. As
this is o solid wood project, use top quality materials.

COMPLETED PROJECT ﬁ =

Side rail nailed to leg,
then screwed together with
hinges and folding support.

3" Butt hinge

J Screw block

2 Screws countersunk

2 x 4 Brace

Position for screwin:
into table top ot 3

Hinge mortised
inlo table leaves

1 _\nwu\ﬁ( Hole plugged with

(38) wood button

FIGURE 4

&lu\m.. x 3/8" robbet

3/4" x 3/4" screw
block

3" table rail

_.
(25)
FIGURE 6

17 5/8" 3"(76)
(448)
-~ [
~|8 2>
il L
e . |
o~ =
-8 4la
4>
Note:
Rabbets are fitted and glued
before screwing together.
[=————=)
4 D A Wood button to
prevent leof support
=] / from accidentoly closing
A7k
ol -
|~
12" 2 13/16%(71)
(305)
FIGURE 5

EWU® EXPLODED VIEW




